12”0482 (K12n0482)

6
/{ \ Linearized knot diagam
12

Solving Sequence

. 3,10 > 475 —> —> —> —> — —> — — Cyq4,Cgq, C
A knot d1agranﬂ cs ey 2 ca 6 & 1 co 961011 o 8 o 701212 ->> C4,C6, C11

Ideals for irreducible component#ﬂ)f Xpar

It = (b +wu, 135u® — 671u" + - - + 493a + 107,
utt — 200 4 30 — 4u® + 8u” — 1108 + 1205 — 11u* + 5u® — 3u? — 1)
I = (1.98818 x 10%2u3" + 5.18591 x 103130 4- - + 3.87572 x 103%b — 1.54819 x 10%2,
4.74622 x 1033037 4 1.04073 x 1033436 4 ... 4+ 3.87572 x 103%a — 3.08284 x 1033, u3® + 437 4
Y = (b+u, —3u* +3u® —2u* +a+5u—2, v’ —u* +u® —2u? +u—1)
I'=(b+u, a+2u+2 v’ +u+t1)
I = (—u'® — 20" — 3ut — 8u!® — 7u® — 16u® — 10u” — 21u°® — 13u® — 18u? — 9u® — 11u* + b — 3u
3u® — u'? + 10wt + 196° 4 2u® + 2207 + 8ub 4+ 19u® + 5ut + 1203 + 3u? + a + 2u,
u 4 4u'? + ut + 9u® 4 36 + 13ud + 6u” + 1468 + 60 4 11wt + 40 + 5u? +u + 1)

* 5 irreducible components of dim¢ = 0, with total 70 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

e llu+1

_2,


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I I} = (b+u, 135u'® — 671u” 4. -+ +493a 4+ 107, u'!t — 20+ ... —3u? — 1)

(i) Arc colorings
1
as
ai = )

a4 =
273834u10 +1.36105u° + - - - + 3.25761u — 0.217039

as = —u

—0.813387u'? 4+ 1.76876u” + - - - 4+ 0.217039u + 1.27383
a2 = U2

—0.415822u' 4 1.36308u” + - - - + 1.98377u + 0.596349
ag = —u® —u
al = u2 )
ag = US >

u5—|—u +u>

u
ud +u

0.0263692u:'° — 0.271805u” + - - - — 3.30629u + 1.00609
0.0953347u'0 — 0.444219u° + - - - + 0.969574u — 0.131846

( —1.09533u'0 4 2.44422¢4° + - - - 4+ 1.03043w + 1.13185 )
a2 =

( 0.813387u!'0 + 1.76876u° + - - - 4+ 0.217039u + 1.27383

—0.150101u' 4 0.316430u® + - - - + 0.281947u — 0.111562

(ii) Obstruction class = —1

(lii) CU.Sp Shapes — 181‘8,“10 2167 9 + 2637u8 _ 3733 7+ 10857, 6 _ 10419 5 +
493 293 Y 493 493 493 493

8712u4 7389 3 + 2214u2 3255u _ 301

493 193 ¥ 493 493 493




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C10 utt 20t o —6u—1
2,63, u't = 2010 + 30 — 4u® + 8u” — 11u8 4+ 12u° — 11u* + 5u® — 3u® — 1
C9

C4,C6,C11 utt =l —u® +ud + 50" — 30’ — 4ud Fut 30 —u? +3u—1
7 ut w4 = Blu — 17
Cs utt — 4wt . —16u—1
c12 u + 8u? 4 -+ — 320u — 64




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, 10 y't 14y =26y — 1
Cc2,C3,Cs y11+2y10+---—6y—1
Cg
C4,Cg,C11 y11—3y10+-~-+7y—1
cr ytt — 15y + ... — 425y — 289
cs yt 20y 492y — 1
12 ytt — 22y + ... — 10240y — 4096




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.069055 + 1.0003501
a = —0.981312 — 0.3040411
b = —0.069055 — 1.0003501

u =

—5.87879 + 3.627951

—10.28819 — 4.509651

u = 0.069055 — 1.0003501
a = —0.981312 4 0.3040411
b = —0.069055 4 1.0003501

—5.87879 — 3.627951

—10.28819 + 4.509651

u = 0.457197 4 0.7534801
0.883878 — 0.4364961
b= —0.457197 — 0.7534801

a =

0.73694 4 2.000021

2.64478 — 3.998971

u= 0.457197 — 0.7534801
a= 0.883878 4 0.4364961
b= —0.457197 + 0.7534801

0.73694 — 2.000021

2.64478 + 3.998971

u = 1.21408
a= 0.899878
b= —1.21408

2.41788

20.6200

uw = 1.06044 + 0.990311
a= 137322 —0.358921
b= —1.06044 — 0.990311

10.12310 4- 0.002151

1.32048 + 0.531241

uw= 1.06044 — 0.990311
a= 137322+ 0.358921
b= —1.06044 + 0.990311

10.12310 — 0.002151

1.32048 — 0.531241

u = —0.92863 + 1.138911
a = —1.51448 — 0.573031
b= 0.92863 — 1.138911

8.9020 — 15.02931

—0.32227 + 7.974481

u = —0.92863 — 1.138917
a = —1.51448 + 0.573031
b= 0.92863 + 1.138911

8.9020 + 15.02937

—0.32227 — 7.974481

u = —0.265103 4 0.4021171
a= 1.28876 + 2.597931
b= 10.265103 — 0.4021171

—1.93271 4 1.180561

—1.16495 — 2.634751




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

U
a
b

= —0.265103 — 0.4021171

1.28876 — 2.597931
0.265103 + 0.4021177

—1.93271 — 1.180561

—1.16495 + 2.634751




II.
IY = (1.99 X 1032037 +5.19 x 1031436 4. . . 4 3.88 x 1032b — 1.55 X 1032, 4.75 X
1023437 41.04x 1033436 4. . . 4-3.88 X 10324 —3.08 X 1033, u384+u"+...+11u+1)

(i) Arc colorings
1
as
0
u
1
U
—12.2460u37 — 2.68526u36 + - - - 4 1.99894u + 7.95423 )

—0.512982u37 — 0.133805u3¢ + - - - + 0.536992u + 0.399459

7.74425u37 + 4.31734u35 + - - - + 215.566u + 26.2164
0.565194u37 + 2.66371u3 + - - - + 55.8911u + 6.22476

11.1078u37 — 6.54371u36 + ... — 143.314u — 12.5852)

ag = ( 3.29534u%" + 2.38055u%0 + - - - 4+ 112.115u + 12.6582

aio =
ayg =
a5 =

ag =

a; =

0.565194u37 + 2.66371u3% + - - - + 55.8911u + 6.22476

o)

u5+u +u>

u
ud +u
2.38323u37 + 1.44709u3% + - - - + 51.2510u + 3.28992
a7 = \1.457494%7 4+ 1.85739u36 + - - - + 1.74398u — 1.81804

( 7.40661u3" + 4.29257u3% + - - - + 209.264u + 24.8880 )
a2 =

8.30944u37 + 6.98105u30 + - - - 4 271.458u + 32.4411 )

ag =

—1.35180u37 + 1.74929u36 + - - - 4 35.3462u + 4.43912

(ii) Obstruction class = —1

(iii) Cusp Shapes = 25.3622u%7 + 20.1574u6 + - - - + 887.101u + 105.896



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C10 w3 T+ —3u+1
Cc2,C3,Cs u38_’_u37+.__+11u+1
Co
C4,C6, C11 w43~ 13u 1
¢ u®® + 6uT + - -+ 4 279558u + 34943
Cs u® 4+ 2037 4 ... 4 31225u + 84625
C12 (u'® — 4u'® + ... +182u — 103)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, 1o Y47y T+ 4Ly +1
Cc2,C3,Cs y38+7y37+_.__3y+1
C9

C4,C6, C11 R - 2Ty +1

Cc7 38 37
y®8 — 54y 4 . 419424324302y + 1221013249

Cs y*® +90y°" + - - - + 115039950625y + 7161390625
c1o (y'® — 18y + - - — 49070y — 10609)>




(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
uw = 1.004590 + 0.1721311
a= 0.883738 —0.1514241 2.25367 8.32597 4+ 0.1
b= —1.004590 + 0.1721317
u = 1.004590 — 0.1721311
a= 0.883738 4+ 0.1514241 2.25367 8.32597 4+ 0.1

b= —1.004590 — 0.1721317

u = —0.769998 4 0.5869911
a= 1117170 + 0.2639421
b= —0.49939 + 1.389261

—1.95090 — 5.968391

0.62541 4 10.553131

u = —0.769998 — 0.5869911
a= 1117170 — 0.2639421
b= —0.49939 — 1.389261

—1.95090 + 5.968391

0.62541 — 10.553131

u = —0.250368 + 0.9285871
a= 0.922332 + 0.8906811
b= 0.516346 + 1.0550001

—3.76429 4 1.962331

—6.97090 — 0.907661

u = —0.250368 — 0.9285871
a= 0.922332 — 0.8906811
b= 0.516346 — 1.0550001

—3.76429 — 1.962331

—6.97090 + 0.907661

u = 0.685299 4 0.877713I
a= 0.431131 + 0.0178941
b= 0.221102 — 0.5812361

0.80155 4 2.694951

4.30397 — 0.264941

u = 0.685299 — 0.877713]
a= 0431131 —0.0178941
b= 0.221102 + 0.5812361

0.80155 — 2.694951

4.30397 4 0.264941

u = —0.151590 4 0.8403311
1.15667 + 1.140141
b= 0.319310 + 0.2493821

—1.87491 4 1.480711

—3.81413 — 3.723841

u = —0.151590 — 0.8403311
1.15667 — 1.140141
b= 0.319310 — 0.2493821

—1.87491 — 1.480711

—3.81413 + 3.723841
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Solutions to I3

V=1(vol + v=1C)

Cusp shape

= —0.479231 + 1.0647901
= —1.79535 — 0.558081
= 0.350575 — 0.4993461

—3.82831 — 4.846341

—7.70612 + 6.886641

= —0.479231 — 1.0647901
= —1.79535 4 0.558081
= 0.350575 + 0.4993461

—3.82831 + 4.846341

—7.70612 — 6.886641

= 0.908346 + 0.7359321
= —0.339798 — 0.2496881
= 0.400909 + 0.1037371

1.01937 + 3.042191

4.58994 — 7.020781

= 0.908346 — 0.7359321
= —0.339798 + 0.2496881
= 0.400909 — 0.1037371

1.01937 — 3.042191

4.58994 + 7.020781

= —0.516346 + 1.0550001
= —0.088440 + 1.0461301

—3.76429 — 1.962331

—6.97090 + 0.907661

—0.516346 — 1.0550001
—0.088440 — 1.0461301
0.250368 — 0.9285871

—3.76429 + 1.962331

—6.97090 — 0.907661

= —1.044560 + 0.8425571
= —0.811923 — 0.6549071
= 1.044560 + 0.8425571

10.6548

= —1.044560 — 0.8425571
= —0.811923 + 0.6549071
= 1.044560 — 0.8425571

10.6548

= 0.976290 + 0.9492511
= —1.63572 4+ 0.332441
= 0.887628 4+ 1.0955101

9.80034 + 7.08036.1

0. —4.765931

= 0.976290 — 0.9492511
= —1.63572 — 0.332441

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= 0.250368 + 0.9285871
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= 0.887628 — 1.0955101

9.80034 — 7.080361

0. +4.765931
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.221102 + 0.5812361
0.427232 — 0.6438161
—0.685299 — 0.8777131

0.80155 4 2.694951

4.30397 — 0.264941

—0.221102 — 0.5812361
= 0.427232 + 0.6438161
= —0.685299 + 0.8777131

0.80155 — 2.694951

4.30397 + 0.264941

= 0.950416 + 1.0052001

0.568027 — 0.6007691 9.62378 0
= —0.950416 + 1.0052001
= 0.950416 — 1.0052001
= 0.568027 + 0.6007691 9.62378 0

—0.950416 — 1.0052001

—0.350575 4 0.4993461
= —3.57554 — 0.402791
0.479231 — 1.0647901

—3.82831 — 4.846341

—7.70612 + 6.886641

= —0.350575 — 0.4993461
= —3.57554 + 0.402791
= 0.479231 4 1.0647901

—3.82831 + 4.846341

—7.70612 — 6.886641

= —0.887628 + 1.0955101
= 1.53068 + 0.505541
= —0.976290 + 0.9492511

9.80034 — 7.080361

= —0.887628 — 1.0955101
= 1.53068 — 0.505541
= —0.976290 — 0.9492511

9.80034 + 7.080361

= —1.14162 + 0.844821
= 0.714096 + 0.4781081
= —1.00890 — 1.045171

9.91517 + 7.543981

= —1.14162 — 0.844821
0.714096 — 0.4781081
= —1.00890 + 1.045171

9.91517 — 7.543981

12



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

1.00890 + 1.045171
—0.554397 + 0.6312891
1.14162 — 0.844821

9.91517 + 7.543981

1.00890 — 1.045171
—0.554397 — 0.6312891
1.14162 + 0.844821

9.91517 — 7.543981

0.49939 + 1.389261

= —0.521072 + 0.5434021

0.769998 + 0.5869911

—1.95090 + 5.968391

0.49939 — 1.389261
—0.521072 — 0.5434021
0.769998 — 0.5869911

—1.95090 — 5.968391

—0.400909 + 0.1037371
0.580462 — 1.0392801
—0.908346 + 0.7359321

1.01937 — 3.042191

4.58994 + 7.020781

—0.400909 — 0.1037371
0.580462 + 1.0392801
—0.908346 — 0.7359321

1.01937 + 3.042191

4.58994 — 7.020781

—0.319310 + 0.2493821
0.99071 + 3.276481
0.151590 + 0.8403311

—1.87491 — 1.480711

—3.81413 + 3.723841

—0.319310 — 0.2493821
0.99071 — 3.276481
0.151590 — 0.8403311

—1.87491 + 1.480711

—3.81413 — 3.723841
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IIL I = (b4 u, —3u*+3u® —2u?+a+5u—2, u> —u*+u—2u?+u—1)

(i) Arc colorings

0
aio = \u

1
a4 = _u2

3ut — 3ud +2u? —5u+2
as = —u

ud —u4+u—2
a2: u2

2ut —2ud +u? —3u+2
ag = —ud —u

wHu—2
al— u2

—u
ag = \ud+u

—u3

a1 =\t + 202 +1

w3
ag = \uy3+u

4wt —u?—2u—1
ar = u —u?+u—1

—ut 4wl —uP+2u—3
a2 = ut +3u? +1

(ii) Obstruction class =1

(iii) Cusp Shapes = u* — 2u? — Tu? —u — 12

14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u’ —ut —ud +du? —3u+ 1

C2,Cy WHut et 20 +u+1

c3, Cs Wt -2 +u—1

C4,Cq w2+ u+2u—1

7 u® + 2ut + 2% + 3u? + 2u+ 1

Cs u® + 5ut + 6ud + 3u +u+1

C10 et —uwd— 4w —3u—1

c11 w? — 2w — w4+ 2u+1

C12 u® + 6ut +9u> + 8u® +4u + 1

15



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, 10 v’ =3yt +3y° -8yt +y—1
€2,C3,C5 Pyt — P — 4y 3y —1
Co
C4,Cp,C11 y5—4y4+8y3—9y2+6y—1
¢ y® —4y® —5y% — 2y — 1
s Y’ — 13y +8y° — Ty — 5y — 1
c12 y5 — 18y4 — 7y3 — 4y2 -1

16



(vi) Complex Volumes and Cusp Shapes

Solutions to I§ VvV—1(vol + /—1CS) Cusp shape
u = —0.428550 + 1.0392801
a = —1.54944 — 0.537091 —5.20316 — 6.774911 | —7.90607 + 7.892911

b= 0.428550 — 1.0392801

u = —0.428550 — 1.0392801

= —1.54944 4 0.537091 —5.20316 4 6.774911 | —7.90607 — 7.892911
b= 0.428550 + 1.0392801

uw= 0.276511 + 0.7282371

a= 1.09747 — 3.274951 —2.50012 — 0.607161 | —8.21805 — 3.474601
b= —0.276511 — 0.7282371
uw= 0.276511 — 0.7282371

a= 1.09747 + 3.274951 —2.50012 + 0.607161 | —8.21805 + 3.474601
b= —0.276511 + 0.7282371

u= 130408

a= 0.903937 2.24708 —26.7520

b = —1.30408

17



IV.I} =(b+u, a+2u+2, u> +u+1)

(i) Arc colorings

(

(

(

e
w= (221)

(

(

(

(

(

[

ag —
—u+ 2
ar = u+ 2
—2u—2
a2 = —Uu
(ii) Obstruction class = —1

(iii) Cusp Shapes = 12u +6

18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
C4,Cs5,Cq U2+U+1
C9, C10, C11
C12
2 1
Cc7,C8 u” —u—+

19



(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12

y2+y+1

20



(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

u = —0.500000 + 0.8660251
a = —1.00000 — 1.732051
b= 0.500000 — 0.8660251

— 6.089651

0. +10.392301

u = —0.500000 — 0.8660251
a = —1.00000 + 1.732051
b= 0.500000 + 0.8660251

6.089651

0. —10.392301

21



V.
I = (—u'3—2u!?+4...4b—2, 3u'®—u'?+..-4a+2u, v'*+4u'?+-- - +u+1)

(i) Arc colorings

0
a10 = \u

1
a4 = —u?

—3ut? +ul? + .. —3u? - 2u
as = uld +2u'? + . 4+ 3u+2

3ul —u'? 4. 4 6u+1
az = \ -y —u!? ... — 4y -3

—2ul3 +2ul? - —du+2
ag = u® +2u'? .+ 6u+4

2utd — 2u1? + +2u — 2
a; = 7u13 u12+' 74,“73

—u
ag = \ud +u

—u3
a1l = \uP +ud+u

w3
= (%)

20t —ul? 4 4u 42

ar = \ M — 410 4 349 — 208 + 507 — 3ub + 5ud — ut + 443 — u? + 3u

Jul® —2ul?2 +... 4+ 6u—1
arg =\ —ul3 —u!24... —3u—3

(ii) Obstruction class =1

(iii) Cusp Shapes
= 5ul3+7u 2+ 160w +31ut0+38u0 +65ud +56u7 +90u0+72uP +79u* +53uB +50u2+18u+4

22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! wl —8uld 4. —9u41
C2,Cy ut et w1
c3,Cs 4 4ut? 41
C4,Cg w2 w41
7 utt —3ul = 2u 1
s ut —3ul 4 —3u41
€10 w8 9+ 1
c11 't 2u w41
C12 (u7 —ouS 2 —ut 20 —2u+ 1)2

23



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C10 y Ayt =3y 1
Cc2,C3,Cs y14+8y13+---+9y+1
cy
€4, Cp, C11 y =6y — 1y + 1
cr y14+11y13++2y+1
cs yt 3y e+ 1Ty + 1
c12 (y" +3y* —2y° —1)?

24



Solutions to I¢

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = —0.716205 4 0.6198301
a= 1.50526 + 0.739821
b= —0.417581 + 1.2004501

—2.50419 — 5.009921

—2.87922 + 5.192331

u = —0.716205 — 0.6198301
1.50526 — 0.739821
b= —0.417581 — 1.2004501

a =

—2.50419 + 5.009921

—2.87922 — 5.192331

u = 0.369492 4 1.0609501
a = —1.074490 — 0.2872251
b= 0.355639 — 0.6716521

—3.83313 + 3.388011

—5.24712 — 4.062761

u = 0.369492 — 1.0609501
a = —1.074490 + 0.2872251
b= 0.355639 + 0.6716521

—3.83313 — 3.38801/1

—5.24712 + 4.062761

u = 0.764704 4 0.8557991
a = —0.685493 — 0.3654621
b= —0.064397 + 0.6816581

0.24628 4- 2.900271

—9.12896 — 4.502341

u = 0.764704 — 0.8557991
a = —0.685493 + 0.3654621
b= —0.064397 — 0.6816581

0.24628 — 2.900271

—9.12896 + 4.502341

u = —0.544331 4 1.1119701

a= 0.113385 + 0.231625] | —4.26728 —4.48940 4+ 0.1
b= 0.544331 + 1.1119701
u = —0.544331 — 1.1119701
a= 0.113385 — 0.231625] | —4.26728 —4.48940 4 0.1

b= 0.544331 — 1.1119707

u = —0.355639 + 0.6716521
a = —1.39220 + 0.874571
b = —0.369492 — 1.0609501

—3.83313 + 3.388011

—5.24712 — 4.062761

u = —0.355639 — 0.6716521
a = —1.39220 — 0.874571
b = —0.369492 + 1.0609501

—3.83313 — 3.38801/1

—5.24712 + 4.062761
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Solutions to I

V=1 (vol + y/=1CS)

Cusp shape

= 0.417581 + 1.2004501
= —0.696781 4 1.0376701
0.716205 + 0.6198301

—2.50419 + 5.009921

—2.87922 — 5.192331

0.417581 — 1.2004501
= —0.696781 — 1.0376701
0.716205 — 0.6198301

—2.50419 — 5.009921

—2.87922 + 5.192331

0.064397 + 0.6816581
= 1.230320 + 0.4264101
—0.764704 4 0.8557991

0.24628 — 2.900271

—9.12896 + 4.502341

0.064397 — 0.6816581
1.230320 — 0.4264101
—0.764704 — 0.8557991

U
a
b
U
a
b
U
a
b
U
a
b

0.24628 4 2.900271

—9.12896 — 4.502341
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VI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (W +u+ D)W —ut 4 = 3u+ 1) + 260+ —6u—1)
M = 8u e = 9u 4 D)W+ T 4 = 3u 1)
(w? +u+ 1) +ut +u® + 20 +u+1)

2, C

2 (M = 2010 4 30 — 4u® + 87 — 110 + 1205 — 11ut + 5ud — 3u? — 1)
Mt A —u )P T+ 1lu 4 1)
(u? +u+ 1) (u® —u? +u® —2u® 4 u—1)

3, € .

5 (M = 201 4 30 — 4u® + 87 — 110 + 120° — 110t + 5ud — 3u? — 1)
w4+ u+ D T 4+ T+ 1)
(u? +u+ 1) (u® — 2u® + u? +2u — 1)

C4, C

b St =t — w4 u® F5u” - 3u® — 4w’ 4wt + 3u® —u? - 3u— 1)
=2 b u )W T+ —13u 1)

cr (u? —u+1)(u® +2u + -+ 2u + 1) (u! +u® 4 - = 5lu — 17)
c(uM =3t 4 = 2u+ 1) (w4 6uBT 4 - 4 279558y + 34943)

cs (u? —u+ 1)’ +5u* +--Fu+ 1)t =40+ —16u—1)
S(uM =3t = Bu+ 1) (w4 20T 4 - 4 31225u + 84625)

10 (w? +u+ 1D +ut 4+ = 3u—1)(u + 20+ —6u—1)
Mt 8uB 4+ 9u 4 D)W+ T+ = 3u 1)
(u? +u+1)(u® —2u® —u? +2u+1)

c

H (= ut® —w® 4+ u® - 5u” - 3uS — 4w’ 4wt 4 30— w? - 3u—1)
Mt 2u e )W T = 13u 1)
(u? 4+ u + 1) (u® + 6u? + 9u® + 8u? + 4u + 1)

C12

((u” = 2u8 + 2u® —ut 20 — 2u + 1)) (u!t + 8ut? 4 - — 320u — 64)
(u'? — 4u'® + - 4+ 1820 — 103)?
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VII. Riley Polynomials

Crossings Riley Polynomials at each crossing
1, ¢10 W +y+ 1D =3y + -y = Dy + 14y" - =26y — 1)
M Ay 3y D) (P AT - 4ly )
C2,C3,C5 P Hy+ Dyt + =3y =Dyt 290+ —6y — 1)
Co Mty D)@ T+ =3y 4 1)

W +y+ 1~y 46y =Dy =3y e+ Ty — 1)

C4,Ce, C11

Syt =6y 4 =Ny + (Y - T e = 2Ty 1)

. W +y+D° =4+ =2y — Dy — 1590 4 .- — 425y — 289)
M1y 2y 4 1)
- (y3® — 54y®T 4 -+ 19424324302y + 1221013249)

cs (v +y+1)(° —13y* + - =5y — 1)(y"t + 20" + - + 92y — 1)
M+ 3y 4+ 1Ty + 1)
(% + 90557 4 - - - 4+ 115039950625y + 7161390625)

. W +y+ D" —18y" —7y° —4y” - 1)(y" +3y* —2° — 1)?

12

. (yll — 22910 + ... — 10240y — 4096)
(y" — 18y™8 + -+ — 49070y — 10609)2
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